AP Caleulus BC
1) \/::xz,énx
Y’: x"-,)% ¥+ Zxtnx
\/"' X + 2xtnx
i) :ezx
2
\/’—Zf_’
) ys 5%

Yy ’33)53 ‘M5

B £(x) 2y (Hx"+5ec ¥

[2y% 2453 Tanx

£l

Yx> +secx

a) y= (% ')g("i)cﬂ) ®

Derivaitives of exp & Logs

2) y=Sin(2x)+2 SHX

\/I: ZCOS(ZX') + ZSI-YI)CCOSX (_,&nZ)

'-i)g(x) = Iogq (éxq-f-}) d
9'(x)= 5(6{"4'3)% 249x>

() - (ex7+3)*
3

= |20 x _
(tn @) (6x3)°

7

0 Fx)= 5"
flx)= 5"

1w

L 3% (s

%) = Stn Clux)
\/': Cos{lnx) - :,I;

y'z (X?'-HJ}. 5('{%3)4-.1-{ + (dxt3) 3(x% 025

0 £ ™

£ '(Y) = €+M¥Secz)r

1)) Yy = T

v’z E[39my) + 5xT 3



[2) 9lx)= Sec (Szx) + An fdx+2
=l
L (4x+2)"y

§'(x)= sec(s”)tals™). 5™ 5 + ,
(Hx+2) /2

& (Sec {s*0) {-cm(.S‘z’jP)- _S'z"(,f,, 5) 4 2
(4x+2)

< (sec(SD4unls™)- 5 (ls) + s

(3) y:)rc"" e 1
YI: X(_.e-x)_‘_e--x

. -4
y(m i - 7’(')' g g BB



